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| 52,347,272 9,611,598 | 289,002 | 4,320,684 0| 30,217,268 5,954,819 | 788,621| 1,165,280|52,347,272| 3,679,908 4,292,800| 33,877 03,500,000 | 40,839,687 | 1,000
Henzsd3 126.682| 75,000 0 0 0 50,271 0 1,411 0| 126,682 30,000 0 0 0 0 96,682 0
&2 12,010,745 0 0 0 0| 11,716,296 0| 244,449 50,000 12,010,745| 375,920 0 0 0| 1,500,000 | 10, 134,825 0
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(=) 6,047,714 0 0 0 0 0|5,954,819| 92,895 0| 6,047,714 0 0 0 0 0| 6,047,714 0
SaiEoEEP 2
(Wmoimapym) | © 145308 |8,016,535 0 0 0 0 0| 128,768 0| 8,145,303 420 0 0 0 0| 8,144,883 0
SA0IMSEI12 | 7,804,901 0 0| 4,295,313 0| 3,418,044 0| 91,544 0| 7,804,901| 250,560| 4,000,000 0 0| 300,000 3,254,341 0
XHeo|2 1,785,690 0 0 0 0| 1,746,690 0| 29,000 10,000| 1,785,690 6,000 20,000 0 0| 1,000,000 759,690 0
wol=x o2 613,515 0 0 0 0 607,351 0 6,164 0| 613,515 144,716 0 0 0| 100,000 368,799 0
ANBED|S 309,410 0 0 0 0 305,198 0 4,212 0| 309,410 40,000 0 0 0| 100,000 169,410 0
T 2% A
m'jfiﬂla':f'a 6,786,931 0 0 0 0| 6,682,682 0| 104,249 0| 6,786,931 0 0 0 0 0| 6,786,931 0
2 0|5H Kt
S 200 9|2 982,101 0 0 8,531 0 962,990 0| 10,580 0| 982,101 420 22,800 0 0| 100,000| 858,881 0
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cEIxeT|2 | 2 575,261 0 0 0 0| 1,549,383 0 2,575,261| 821,425 0| 33,877 0| 300,000 1,419,959 0
INE-SSE=SI= 942,869 0 0 16,840 0 859,029 0 942,869| 159,570| 250,000 0 0| 100,000| 433,299 0
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(%%Z;ﬁ%‘&;gﬂj'g 0 6,047,714 0 6,047,714 6,047,714
R 0 8,145,303 420 8,144,883 8. 144,883
VSISl 3,418,044 4,386,857 4,250,560 3,554,341 136,297
WEDIE! 1,746,690 39,000 26,000 1,759,690 13,000
S GIE 607,351 6, 164 144,716 468,799 A 138,552
FHBEI|B 305,198 4,212 40,000 269,410 35,788
HIIS M2 AL L5012 6,682,682 104,249 0 6,786,931 104,249
N NEE =1 D= 962,990 19, 111 23,220 958,881 A4,109
CAIADI2 100,504 101,512 0 202,016 101,512
Wuzeo2 1,228,967 824,300 367,020 1,686,247 457,280
SoBDYNI|D 534,120 357,002 426,000 465,122 68,998
cEEx=n)2 1,549,383 1,025,878 855,302 1,719,959 170,576
NESESIE 859,029 83,840 409,570 533,299 A325,730
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g A 44,339,687 14,899, 141 0 59,238,828
g=uUFE8Il=2 96,682 0 0 96,682
Fdaha 11,634,825 0 0 11,634,825
M=E&E13 10,888 0 0 10,888
SEMFHEFIIS(SEAHE) 6,047,714 0 0 6,047,714
SSMF SIS (ME AT S HE 8,144,883 0 0 8,144,883
SAI|H=EHII= 3,554,341 14,588,642 0 18,142,983
INE=PIE= 1,759,690 225,000 0 1,984,690
LoI=X0132 468,799 0 0 468,799
ALESI= 269,410 0 0 269,410
HIIZSXH2AEEX013 6,786,931 0 0 6,786,931
SZ0ISHANEASANZUHHIIS 958,881 60,539 0 1,019,420
SATHAI= 202,016 0 0 202,016
e 2 1,686,247 0 0 1,686,247
S NUNI|= 465,122 0 0 465,122
CRIAN=7IIZ 1,719,959 0 0 1,719,959
AZXEI|Z 533,299 24,960 0 558,259
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2. N==28AH
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OPN=EINE S (Sl HH)
9| . & Xl E . =
& = 2] oH ME T~ s &t = PN MECXEH s
= A 126,682 50,000 76,682 | & A 126,682 50,000 76,682
Hol2 75,000 50,000 25,000 | HIS XHA Ati] 30,000 0 30,000
EES= 0 0 0| BX-& ALY 0 0 0
pRsll=] 0 0 0| ol 0 0 0
B 0 0 0|72 0 0 0
e 0 0 0| olEr2 0 0 0
0l X232 50,271 0 50,271| 01 X12 96,682 50,000 46,682
e 0 0 P RIEN 0 0 0
0l Xt 1,411 0 1,411 |02 2|24k 0 0 0
pJ|SE] 0 0 0| JIEIXIZE 0 0 0
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20229 &= 76,411 75,000 0 0 0 0 1,411 0 30,000 30,000 0 0 0 0 0 46,411
Al 126,682 125,000 0 0 0 0 1,682 0 30,000 30,000 0 0 0 0 0 96,682
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2. \I22EH=

BIHASE : 20224

Gll&FXb== o 20 A

AF=  ESDI3

OPN=EINEF (Sl HJ)

= & Al = X = A E|
g = =)o HE T oM s gt = N MEACX|ENH s &

gt A 12,010,745 12,191,782 181,087 | & H 12,010,745 12,191,782 181,037
mMel2 0 0 HIS X ARSI 375,920 375,720 200
CES= 0 0 0| SXH AR 0 0 0
xela 0 0 0|l 0 0 0
B 0 0 0212yl 0 0 0
=R 0 0 = 1,500,000 0 1,500,000
VBNE=EIES 11,716,296 11,853,052 A136,756 | GI X1 2 10,134,825 11,816,062 1,681,237
e 0 0 VPRI =N 0 0 0
] pAES] 244,449 258,730 A14,281| B2 R2I24E 0 0 0
JIEH 50,000 80,000 30,000 | JIEHKI & 0 0 0

- 29 -




SHAE 20224
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Oll&bXb= 0 20i14t
A= BEIIS
@ +HE £l )
oo
200 Mlel=¢] 294,449 338,730 N4, 281
210 SAHA 2+ 244,449 258,730 A14,281
216 O Kk==¢& 244,449 258,730 A14,281
216-01 =030kt~ 244,449 258,730 A14,281
1) 2 0lX= 244,449,000 = 244,449
220 LAIHAI2l== 50,000 80,000 230,000
224 J|Et=¢ 50,000 80,000 A30,000
224-03 J|R3=L 50,000 80,000 30,000
1182 50,000,000& = 50,000
700 EMUSZLULIEI N 11,716,296 11,853,052 A136,756
710 2SS 11,716,296 11,853,052 AN136,756
714 OIXI=22l= 11,716,296 11,853,052 A136,756
714-01  OIXI2al= 11,716,296 11,853,052 A136,756
NUHXIZ2 342 11,716,296,000& = 11,716,296
= g g 12,010,745 12,191,782 181,037




SIHASE 20224
Ol &FXb= o 20lA
gAHFZ - FSl=
@ NEAE
X - 22 - FH . H - ARAIE - BES I HMEAEX|ENH
WEX 12,010,745 12,191,782
SOILEESNS 12,010,745 12,191,782
OlHE && WKTAl 23 375,920 375,720
TEDIS(HEIZ) 375,920 375,720
FeI38 X 375,920 375,720
201 LEr2 % 17,420 17,220
01 A=Y 17,420 17,420 17,220
1) et 16,300
2oitERS HA| 16,300
OEIES] 1,00021,0000§ = 1,000
3 Mt 1,0002%2,00004 = 2,000
3)siaat 100,00024%200H = 2,000
BFEEA M 6,60024%500% = 3,300
JEEE L E2IY 8,000,000 = 8.000
egey 1,120
2)HEI|228409AS
70,0008 +824+23| = 1,120
301 LEIENSF 358,500 358,500
® msowsiiD 358,500 358,500 358,500
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ZX .22 ..M. O . JEAY - BAS JNEFL HEAC X =N Hlns2
1) &8t Ab 368,500
2)&st2 Xz 350,000,000 = 350,000
2)0I TS A XIS AL (BHA ) 8,500,0002! = 8,500
HeSs(WSXD) 11,634,825 11,816,062 A181,237
BEXNE(HEDIB) 10,134,825 11,816,062 1,681,237
ERSINEICSEDlT=)) 10,134,825 11,816,062 1,681,237
602 OIXI= 10,134,825 11,816,062 A1,681,237
01 wskyRI= 10,134,825 10, 134,825 11,816,062 A1,681,237
DE=IE=N =) 10,134,825,0002 = 10,134,825
LHEHHKIE (HED|2) 1,500,000 0 1,500,000
LIRHANKIE(HEDIS) 1,500,000 0 1,500,000
704 OIE2 1,500,000 0 1,500,000
0l = 1,500,000 1,500,000 0 1,500,000
NESWHOHDIZ(SSAHE) 023 © 00,000, 00051 = 500,000
A & & A 12,010,745 12,191,782 A181,087
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ST 3@ | muz | vxz= | oz | R | gaz Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)
e =S | (oxzs) TS Aol 20! ARHIL | AFRIH| | ¥ 123U | g13ME | 2i2as | KIS

2016 DXl | 14,801,123 | 11,273,724 0 0 0 0| 1,565,767 1,961,632| 2,661,735| 2,642,653 0 19,082 0 0 0] 12,139,388
20178 580,692 0 0 0 0 0 390,692 190,000 523,648 523,648 0 0 0 0 0 57,044
20189 &= 235,475 0 0 0 0 0 82,475 153,000 513,513 513,513 0 0 0 0 0] ~278,038
20199 &= 473,564 0 0 0 0 0 453,564 20,000 497,968 497,968 0 0 0 0 0 A24,404
20209 &= 189,6%6 0 0 0 0 0 81,459 108,237 340,388 340,388 0 0 0 0 0] 150,692
20219 & 338,730 0 0 0 0 0 258,730 80,000 365,732 365,732 0 0 0 0 0 A27,002
20229 &= 294,449 0 0 0 0 0 244,449 50,000 375,920 375,920 0 0 0 0 0 AB1,471
Al 16,913,729 | 11,273,724 0 0 0 0| 3,077,136| 2,562,869| 5,278,904| 5,259,822 0 19,082 0 0 0] 11,634,825
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4. fiXl= & KIS= A
BIHSIE © 20204
Ol &FXb= - 20 &
AT HEDIZ
PIEERESE 5] (9l mis
L
Tg Ol %I (D) R HID
2020 =S 20219 LS THAE®@ 20224 = L& T 2D EE(OZ6))
2l 11,853,052 11,716,296 11,634,825 81,471
OIXI=2 2 11,853,052 11,716,296 10,134,825 1,581,471
fcl2d 11,853,052 11,716,296 10,134,825 1,581,471
Hs= B 0 0 1,500,000 1,500,000
SEMEEIII=S 0 0 1,500,000 1,500,000
(SeE)
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SIAAHE -

Ol &FXb= - 20l A

AF= - A=HEIIS

2. N==28AH

Joo

&= ol . & Xl E . =
& = 2] oH ME T~ s &t = PN MECXEH s
= A 1,069,745 813,572 256,173 | & A 1,069,745 813,572 256,173
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AFE - SAIIEFELHIIS

(191 &2)
x4 o Qo

X}OH
s H @ | mom | mxa | gem | 9B | gaz | OX | JEH | o o luiSts | S | eseas | Iu38 | 0+38 | |EL (@-B)

=55 | =25 | NS | opze) | HTS | a0 | g ANHL | AtRIH| | %3 | 2i3aE | e3ae | KIE
20163 JHX| | 44,686,165| 5,500,000 0 0] 37,363,793 0 456,105 | 1,366,267 | 42,837,450 1,400 | 42,835,000 1,050 0 0 0 1,848,715
20178 &= 3,076,482 0 0 0| 3,034,482 0 42,000 0| 2,320,350 100,350 | 2,220,000 0 0 0 0 756,132
20188 &= 6,082,220 | 3,000,000 0 0| 3,034,008 0 48,212 0| 6,600,560 50| 6,600,000 0 0 0 0 ~518,340
20198 &= 2,689,959 0 0 0| 2,669,017 0 20,942 0| 2,942,060 50| 2,941,500 0 0 0 0 N252,101
2020 = 6,526,269 | 3,500,000 0 0| 2,985,412 0 40,857 0| 5,583,000 500,000 | 5,083,000 0 0 0 0 943,269
20218 = 5,087,410 2,100,000 0 0| 2,883,311 0 54,099 0| 4,397,041| 1,141,041 | 3,256,000 0 0 0 0 640,369
202249 &= 4,386,857 0 0 0| 4,29,313 0 91,544 0| 4,250,560 250,560 | 4,000,000 0 0 0 0 136,297
Hl 72,485,362 | 14,100,000 0 0] 56,265,336 0 753,759 | 1,366,267 | 68,931,021 1,994,471 | 66,935,500 1,050 0 0 0 3,554,341
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T|— O 1
4. OiXl=2 & GE= Al
SIAHAE - 20224
OllAEXE - 20414
SR ¢ ZAIIARADID
| Hl = SaJ|g=4)| (crel: Ml
ORI % Olistol
= GiIXI(E) X HI
2020 =& Ty 20219 LS H@ 2022 =L S T HD S2(0-@)
St 2,126,122 2,972,156 3,554,341 582,185
X2 | 2,126,122 2,972,156 3,254,341 282,185
o2 2,126,122 2,972,156 3,254,341 282,185
&= A H 0 0 300,000 300,000
SEMEED|I= 0 0 300,000 300,000










SIASHE

PN S

SARZ -

0 20224
=0l &t

NI

@ JIS4Xl MR

(1) &x12H1 @ KN2SS<

(2) 2022 J|2AHY R

[0

00
Of
Ja

S NEXE At

O o2 JI1Z T4
20223 A H = 022 &
0218 &
Ox1/\ OH (3@) M oHE) =
1,746,690 26,000 1,759,690
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2. \I22EH=

BIHASE : 20224

Gll&FXb== o 20l A

AHFZ  AEIIZ

OPN=EINEF (Sl HJ)

= & Al = X = A E|
g = =)o HE T oM s gt = N MEACX|ENH s &

gt A 1,785,690 1,729,020 56,670 | &t H 1,785,690 1,729,020 56,670
mMel2 0 0 HIS X ARSI 6,000 0 6,000
CES= 0 0 0| SXH AR 20,000 20,000 0
xela 0 0 0|l 0 0 0
B 0 0 0212yl 0 0 0
=R 0 0 = 1,000,000 0 1,000,000
VBNE=EIES 1,746,690 1,649,020 97,670 | GI X1 2 759,690 1,709,020 A949,330
e 0 0 VPRI =N 0 0 0
] pAES] 29,000 30,000 A1,000| OS2 Ri2I24kE 0 0 0
JIEH 10,000 50,000 A40,000 | JIEHKI & 0 0 0
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- 86 -

SIS ;2022
OAIRS ¢ 208
SR REDIB
@ S Crol M)
SoE e oo 5 2 & U
4-plo!
200 MI2l+=g 39,000 80,000 241,000
210 BeHA2A+E 29,000 30,000 A1,000
216 Ol Xt==g 29,000 30,000 A1,000
216-01  S30S0IXt 29,000 30,000 A1,000
1N&EZ 01kt 29,000,000& = 29,000
220 SAHAI2=E 10,000 50,000 240,000
224 JlEt==g 10,000 50,000 240,000
22407 12=+g 10,000 50,000 240,000
1)JIet B3 10,000,000& = 10,000
700 2E+=LSHUF 1,746,690 1,649,020 97,670
710 2828 S 1,746,690 1,649,020 97,670
JACRINEFES 1,746,690 1,649,020 97,670
714-01  OXl=al=+ 1,746,690 1,649,020 97,670
NUxXZ al=3 1,746,690,000& = 1,746,690
= g g A 1,785,690 1,729,020 56,670




SIHAHE 20224
Ol &FRE== 0 20fl A
SAHPE - ED|IZ
@ XI&EA = (Sl &)
X .22 . FM .- BHAS JNEFL HMEATT| SN Hlns2
INE=EpNn: 1,785,690 1,729,020 56,670
JIZMESH 26,000 20,000 6,000
2| EMETE 26,000 20,000 6,000
IN=PI=ION=DII=) 26,000 20,000 6,000
N=wl= 26,000 20,000 6,000
307 BIZt0IH 6,000 0 6,000
00 DIZIZAAIIE X 6,000 6,000 0 6,000
DIEAIY BOX IS HS N 6,000,0002 = 6,000
501 X2 20,000 20,000 0
01 oiENE 20,000 20,000 20,000 0
NXEIIY SX3 20,000,0002 = 20,000
NN I 1,759,690 1,709,020 50,670
nees 1,759,690 1,709,020 50,670
BEXE(XEDIB) 759,690 1,709,020 A949,330
SEXE(XHEDIZ) 759,690 1,709,020 A\949,330
602 OIXI= 759,690 1,709,020 A949,330
01 wsix2 759,690 759,690 1,709,020 949,330
I G=SI=N =] 759,690,0009! = 759,690
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(&)
ZX .22 ..M. O . JEAY - BAS JNEFL HMEATT| SN Hlns2
LHEAHAXIE(XEDID) 1,000,000 0 1,000,000
HEAHAXIE(REDID) 1,000,000 0 1,000,000
704 GIEF2 1,000,000 0 1,000,000
01 o= 1,000,000 1,000,000 0 1,000,000
1)SEHEHESDIZ(SEHE) ole2
1,000,000,0008! = 1,000,000
X o= g A 1,785,690 1,729,020 56,670




SHAHE 20224
Ol &FXb= o 20lA
AFE - A=

(SR &S)
e e Eie

e - i} &kl

ST 3@ | muz | vxz= | oz | R | gaz Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)
== s 59 | (oxza) Te 20| 20! AFH| AFIH| | ¥ 21=23H | g|2atE | cIZAE INES

2016 DX 1,310,020 200,000 0 0 457,139 0 170,427 482,454 0 0 0 0 0 0 0 1,310,020
20178 98,861 0 0 0 0 0 25,233 73,628 83,000 0 83,000 0 0 0 0 15,861
20189 &= 189,699 0 0 0 0 0 25,119 164,580 32,000 0 32,000 0 0 0 0 157,699
20199 &= 113,455 0 0 0 0 0 33,182 80,273 50,000 0 50,000 0 0 0 0 63,455
20209 &= 107,968 0 0 0 0 0 31,004 76,94 20,000 0 20,000 0 0 0 0 87,968
20219 & 131,687 0 0 0 0 0 35,093 %,5%4 20,000 0 20,000 0 0 0 0 111,687
2022E = 39,000 0 0 0 0 0 29,000 10,000 26,000 6,000 20,000 0 0 0 0 13,000
Al 1,990,690 200,000 0 0 457,139 0 349,058 984,493 231,000 6,000 225,000 0 0 0 0 1,759,690
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SHAHE 20224
Ol &FXb= o 20lA
AFE - A=

&l
OIXI 2 ol
2 0l Xl (=h) &
20209 =S A 021 L HTH U@ 2022E =L SHTHHD 52Z(O-@)

2l 1,652,470 1,746,690 1,759,690 13,000
OIxIZ2 E 1,652,470 1,746,690 759,690 A987,000

S22 1,652,470 1,746,690 759,690 A987,000
Hs= Bl 0 0 1,000,000 1,000,000

SEMEEDI=Z 0 0 1,000,000 1,000,000

(S813)
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SHAHE 20224
Ol &FXb== o 20lA
AHFE - =KDz

@ JIS4Xl MR

(1) EXI2ZH @ NSSEA SE7 LU=XD13
(2) x84 DE3E A0l CHEI S8+ =219

(2) 2022E = JISAIE JHe @ LoI=X| S
®J2x4 ¢ 28
(1 j|g_$_/\—| =3

[0
00
Of
Ja

18 2 20228 = A4 E
ZHY @
22! ® P
607,351 6,164 144,716 A138,552
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0
70
Kd
o
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mmm
X0
KI®
o

©

468,799

468,799

10|

o
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(3) X

21 CH

o
=

(4) X



AN=2E XM

Joo

BIHASE : 20224

Gll&FRb== o 20l A

SIARZE ¢ L=RDI2

OPN=EINEF CERED

= & Al = X = A E|
g = =)o HE T oM s gt = N MEACX|ENH s &

gt H 613,515 657,646 A44, 131 8 A 613,515 657,646 A4, 131
mMel2 0 0 HIS X ARSI 144,716 144,261 455
CES= 0 0 0| SXH AR 0 0 0
xela 0 0 0|l 0 0 0
B 0 0 0212yl 0 0 0
=R 0 0 = 100,000 0 100,000
VBNE=EIES 607,351 649,206 A41,855 | 01 X123 368,799 513,385 144,586
e 0 0 VPRI =N 0 0 0
] pAES] 6,164 8,440 N2,276| D224t e 0 0 0
JIEH 0 0 0| JIEIKIZ 0 0 0

- 05 -




- 06 -

SIHAHAE 2022
Oll&bXb= 0 20i14t
SIHFRZE - Lo=XDI2
@ =2 E el &d)
XtoLSE=2 A O|OH dEE = 2} AS | o
T &=
200 HI2l2=el 6,164 8,440 2,276
210 ZAEHIQ2 6,164 8,440 2,276
216 OIXt==2l 6,164 8,440 2,276
216-01  Z20I20/X4L 6,164 8,440 2,276
DEEERIES 6,164,196 = 6,164
700 BE2ASL LRI N 607,351 649,206 41,855
710 BR%US 607,351 649,206 41,855
714 OIXI=23l% 607,351 649,206 41,855
714-01  GIXI=23l% 607,351 649,206 41,855
NOIXI2 8142 607.,351,0008! = 607,351
2 o 8 613,515 657,646 A44, 131




SIHAE @ 2022¢
Ol &AFXE 0 20fl4H
SIHRE - Le=X012
® N&EAHE (Crel: M)
T .22 - M. . N2 - BHES JNEFL HEX| SN Hlns2
of2a1=XI0 613,515 657,646 Ad4 131
Ll ENE 144,716 144,261 455
LOI=X| BrAt 144,716 144,261 455
Qe “SME(LOI=XDI2) 144,716 144,261 455
LOISXESA L iste0l5 XI& 84,316 81,661 2,655
201 LEr29H| 10,840 10,840 0
01 Atz 840 840 840 0
NCoI=XDI2 Mo 4 70,0002 %62%23| = 840
0B ASS| 10,000 10,000 10,000 0
NEOPDHs HE HAZ 2,500,000 *45] = 10,000
307 2I2H01H 73,476 70,821 2,655
10 AlESIALHE2AHIEX 30,286 30,286 27,631 2,695
1) st 015 22| X 30,286,000 = 30,286
11 AIEISXAIEER 43,190 43,190 43,190 0
1)t =2l5] ARl XK€ 43,190,0002 = 43,190
QIO DIAIE I 60,400 62,600 A2,200
307 2I2H01H 60,400 62,600 A2,200
11 ABIEXAIGEEX 60,400 60,400 62,600 N2,200
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- 08 -

X . H2 . FHB . O . HIRAIY - HAS NEL SIELINET HlDS2
22 9= ASZ(VY S) X
40,00021%30044 K+23| = 24,000
Neolma X 36,400
2)=QIXISl 1hA 1,200,00020% 1 A* 122 = 14,400
2)ZMAIE 1A 200,00021+ 1074 4% 118 = 22,000
NI NELC, 468,799 513,385 A44,586
LE= (022X D) 468,79 513,385 A44,586
BENE(L02X12) 368,799 513,385 A144,586
BENS(L02XD12) 368,799 513,385 A 144,586
602 Ol X2 368,799 513,385 A 144,586
01 wskyR= 368,799 368,799 513,385 144,586
NCoI=X0I2 HIXI2 368,799,0008 = 368,799
HEHRHXIS (= 1=XDI2) 100,000 0 100,000
HEHAHXIZ(=1=XIDI2) 100,000 0 100,000
704 OflEt2 100,000 0 100,000
0l o= 100,000 100,000 0 100,000
ESTHHANEIIZ(SEHT) 022 0,000,000 - 100,000
X & & A 613,515 657,646 A44 131




SHAHE 20224
Ol &FXb== o 20lA
AHFE - =KDz

(&2 ARH)
49 S

e - i} &kl

ST 3@ | muz | vxz= | oz | R | gaz Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)
e =S | (oxzs) TS Aol 20! ARHIL | AFRIH| | ¥ 123U | g13ME | 2i2as | KIS

2016 kXl 1,339,869 900,000 0 0 0 0 439,204 665 462,474 462,154 0 320 0 0 0 877,395
20178 15,597 0 0 0 0 0 15,597 0 63,590 63,590 0 0 0 0 0 A47,993
20189 &= 13,836 0 0 0 0 0 13,836 0 67,470 67,470 0 0 0 0 0 A53,634
20199 &= 16,398 0 0 0 0 0 16,398 0 106,748 106,748 0 0 0 0 0 290,350
20209 &= 12,469 0 0 0 0 0 12,469 0 35,355 35,355 0 0 0 0 0 A22,836
20219 & 8,818 0 0 0 0 0 8,818 0 63,999 63,999 0 0 0 0 0 AB5,181
20229 &= 6,164 0 0 0 0 0 6,164 0 144,716 144,716 0 0 0 0 0| 138,552
Al 1,413,151 900,000 0 0 0 0 512,486 665 44,352 944,032 0 320 0 0 0 468,799
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| =2 a4 —1
4. Oixl= & G&S= EAl
SeiE ;2020
Ol ARRES : 20fAr
372 LI=XII2
|7 Bl (o] 1
R
o= OIXI(EH) A Bl
20209 =S A 021 L HTH U@ 2022E =L SHTHHD 52Z(O-@)
2l 649,206 607,351 468,79 138,552
OIxIZ2 E 649,206 607,351 368,799 A238,552
S22 649,206 607,351 368,799 A\238,552
Hs= Bl 0 0 100,000 100,000
SEMEEDI=Z 0 0 100,000 100,000




of & 7 = =t
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2. N==28AH

Joo

SIHAHE ¢ 2022

Oll&F X 0 20l AF

s7e  YEBSIIS

OPN=EINE S (Sl HH)

&= ol . & Xl E . =
g = £-0) o8 & =40/ =2 g = f=E PSIELINE-ED =

= A 309,410 345,806 N36,396 | & A 309,410 345,806 36,396
Hol2 0 0 HIS XA A 40,000 40,000 0
EES= 0 0 0| BX-& ALY 0 0 0
pRsll=] 0 0 0| ol 0 0 0
B 0 0 0|72 0 0 0
e 0 0 == 100,000 0 100,000
0l X232 305,198 341,475 N~36,277 | 0 XI12 169,410 305,806 136,396
e 0 0 P RIEN 0 0 0
0l Xt 4,212 4,331 A9| OIS R2IZ A 0 0 0
pJ|SE] 0 0 0| JIEIXIZE 0 0 0
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- 106 -

SIHAHE 20224
Oll&bXb= 0 20i14t
SIARE ¢ XHBSIIS
@ +HE crl: HE)
ALoLSEE AOIOH @EE = 2} Al é LH (o]
T &=
200 MI2l=¢ 4,212 4,331 A119
210 SAHA 2+ 4,212 4,331 A119
216 O Kk==¢& 4,212 4,331 A119
216-01 =030kt~ 4,212 4,331 A119
1) 2 0lX= 4,212,000& = 4,212
700 EMUSLUE AN 305,198 341,475 N36,277
710 B&US 305,198 341,475 N36,277
714 OIXI=22l+ 305,198 341,475 N36,277
714-01  OIXI2al= 305,198 341,475 N36,277
NUXZ2 342 305, 198,000& = 305,198
= g g A 309,410 345,806 A36,39%6




SIHAE @ 2022¢
Ol &FRE== 0 20fl A
SAHFE  YHESIIS
OPNEYE (Sl &)
ZX .22 ..M. O . JEAY - BAS JNEFL HMEATT| SN Hlns2
(CP=plESN? 309,410 345,806 A36,396
2% . JI520i4 309,410 345,806 A36,396
Ol A =X U 2= MHIA Bhab 40,000 40,000 0
YHHEZN(LHEEIIZ) 40,000 40,000 0
AHBSEX 40,000 40,000 0
307 BIZt0IH 40,000 40,000 0
02 QIIBMAIHBE 40,000 40,000 40,000 0
NYEBE CIADNS L HARHAST ALY
40,000,0002! = 40,000
WRES(0IEIIED 269,410 305,806 NA36,396
SENE(XEHSIIZ) 169,410 305,806 A136,396
SRS (SHESIIB) 169,410 305,806 136,396
602 OlXI= 169,410 305,806 A136,396
01 wsrR= 169,410 169,410 305,806 136,39
NANBSI|IZ KRIZ 169,410,0002! = 169,410

HEAHAXE(LHESIIZ) 100,000 0 100,000
HEHAXE(LLEBSEIIZ) 100,000 0 100,000
704 OIE= 100,000 0 100,000
0l o= 100,000 100,000 0 100,000
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SHAHE 20224
Ol &FXb= - 20 A
HFE - HFEESII=

(SR &S)
e e Eie

e - i} &kl

ST 3@ | muz | vxz= | oz | R | gaz Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)
== s 59 | (oxza) Te 20| 20! AFH| AFIH| | ¥ 21=23H | g|2atE | cIZAE INES

2016 DX 885,139 700,000 0 0 0 0 185,139 0 360,143 359,803 0 340 0 0 0 524,996
20178 9,265 0 0 0 0 0 9,265 0 47,903 47,903 0 0 0 0 0 38,638
20188 &= 8,409 0 0 0 0 0 8,409 0 48,856 48,856 0 0 0 0 0 A0, 447
2019 &= 8,562 0 0 0 0 0 8,562 0 60,000 60,000 0 0 0 0 0 A51,438
2020 = 7,506 0 0 0 0 0 7,506 0 59,962 59,962 0 0 0 0 0 52,456
20218 = 3,181 0 0 0 0 0 3,181 0 40,000 40,000 0 0 0 0 0 36,819
2022E = 4,212 0 0 0 0 0 4,212 0 40,000 40,000 0 0 0 0 0 A35,788
Al 926,274 700,000 0 0 0 0 226,274 0 656,864 656,524 0 340 0 0 0 269,410
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| =2 a4 —1
4. OlXl=s & t&E= EAl
SIHASE 20224
GIFA N S =1 | Faly
5 2 gNIHE) |2
AFE ¢ dHES)| (cHol: Ml
OIXl &2 Ofl St
= OIXI(EH) A Bl
2020 SUSH 2021 LT M@ 2022E =L SHTHHD E2(0-@)
2l 342,016 305,198 269,410 35,788
N 2 342,016 305,198 169,410 A135,788
soled 342,016 305,198 169,410 A135,788
Hs= 2 0 0 100,000 100,000
SSHZHEEIZ 0 0 100,000 100,000
(SEAHER)




HolgxelAlad €x7=






[0
00
Of
Ja

SHAHE 20224
Ol &FXb= o 20lA
7= - HYISXCIANEZERDIZS

@ JI2EX MR
(1) EX12H : ASSEEA S HIISHAE X8 42t JISEX & 280 28 =
(2) EXI2A =X S2 HL0l et F5 HOISM2AE X RE3S HII22 HMelE fI8 Al XY & A S SZ0l AL
(3) EXIEx @ 20144

= - HIIEXZAIE X 532 &84 2clt 28

(2) 20229 JISAIY iR 1 HIISH™2IAIA JI12 $0ar 22

H =
2022 KA 20208 o
2021EE U NG = .
THM @ § Aol
=2 © NES E20=0-0 @+®@
6,682,682 104,249 0 104,249 6,786,931
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- 114 -

OJdlas & &8 (Chel @ ML)
20229 = & A2 KSR = XHRD
THN @ Olal=mM& © O AHEHEE (© @=@t+®-©

6,786,931 0 0 6,786,931

(2) HRAZH X S JHE At0l E HPISX2IAIE EX1 28
(3) XIZJIE HIIZ XMelAlZ 2X0HY & 28 S2 EX
SR(ZGAE) AlZ XY L 2AHE S

(4) X B




AN=2E XM

Joo

SIHGE 1 2022

Oll&bXb= 0 20i14t

SHFZ - HIISHIANEEXDIZ

OPN=EINEF CERED

& Y A = Xl & A =
=g = Qo HEAC UM = = gt = PN FSISLE=pNEel = 2

=i A 6,786,931 6,583,195 203,736 | & A 6,786,931 6,583,195 203,736
molz 0 0 HIS Xt AL HI 0 0 0
EES= 0 0 0| XA 0 0 0
xrel2 0 0 0| olzt=2gH| 0 0 0
B 0 0 0|72 0 0 0
o233 0 0 == 0 0 0
P EEEES 6,682,682 6,482,075 200,607 | 01 x| 2 6,786,931 6,583,195 203,736
== 0 0 0| 22 0 0 0
(oJp=sel 104,249 101,120 3,129 | ol =223 4te 0 0 0
pl[ =l 0 0 0| JIEHKIS 0 0 0
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- 116 -

SIS ;2022
OAIRS ¢ 208
SIATE : HIISHIALETDIZ
@ S Crol M)
SoE e oo 5 2 & U
4-plo!
200 MI2l+=g 104,249 101,120 3,129
210 BeHA2A+E 104,249 101,120 3,129
216 Ol Xt==g 104,249 101,120 3,129
216-01  S30S0IXt 104,249 101,120 3,129
1N&EZ 01kt 104,249,0008 = 104,249
700 28+=LSHUF e 6,682,682 6,482,075 200,607
710 28+2S 6,682,682 6,482,075 200,607
JACRINEEES 6,682,682 6,482,075 200,607
714-01  OXl=al=+ 6,682,682 6,482,075 200,607
BICNERCE= 6,682,682,000& = 6,682,682
> g & 6,786,931 6,583,195 203,736




SIHAE @ 2022¢
Ol &FRE== @ 20fl A
SIAFE - HOIZHM2ANEERDIS
@ XI&EA = (Sl &)
XX .22 . FHH . OO . HIEAIY - BAS INE£L HEACXI SN sz
esESEPsin’ 6,786,931 6,583,195 203,736
Hole 6,786,931 6,583,195 203,736
WS (HAHED) 6,786,931 6,583,195 203,736
SEXE(HIISHIAIEARIIS) 6,786,931 6,583,195 203,736
SRS (HIISH2IANLLERIID) 6,786,931 6,583,195 203,736
602 OIXI= 6,786,931 6,583,195 203,736
01 iRl 6,786,931 6,786,931 6,583,195 203,736
NHIIZH2IALEXIIZ oIS 6,786,931,0002! = 6,786,931
XozE g A 6,786,931 6,583,195 203,736
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SHAHE 20224
Ol &FXb= o 20lA
2AHFE - HIISHMANEERD =

(&2 ARH)
49 S

e - i} &kl

ST 3@ | muz | vxz= | oz | R | gaz Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)
e =S | (oxzs) TS Aol 20! ARHIL | AFRIH| | ¥ 123U | g13ME | 2i2as | KIS

2016 Xl | 2,791,825 0 0 0 0 0 164,305 | 2,627,520 50,000 50,000 0 0 0 0 0] 2,741,825
20178 1,225,780 0 0 0 0 0 53,780 1,172,000 0 0 0 0 0 0 0 1,225,780
20188 & 1,251,700 0 0 0 0 0 79,700 1,172,000 0 0 0 0 0 0 0 1,251,700
201949 & 1,127,371 0 0 0 0 0 20,170 1,107,201 0 0 0 0 0 0 0 1,127,371
20209 & 127,884 0 0 0 0 0 127,884 0 0 0 0 0 0 0 0 127,834
20219 % 208,122 0 0 0 0 0 208,122 0 0 0 0 0 0 0 0 208,122
20229 &= 104,249 0 0 0 0 0 104,249 0 0 0 0 0 0 0 0 104,249
Al 6,836,931 0 0 0 0 0 758,210 6,078,721 50,000 50,000 0 0 0 0 0] 6,786,931




=2 al ElIX
4. Oixl= & G&S= EAl
BIHE ¢ 2020
Ol &FXb= o 20lA
SIUTE - HIISHALERDI2
| Hl = HIIZ2XcIAEEXD| (chel iy
OIXI 2 ol
2 OIXI (=) HID
20209 =S A 021 L HTH U@ 2022E =L SHTHHD 52Z(O-@)
2l 6,482,075 6,682,682 6,786,931 104,249
OIxIZ2 E 6,482,075 6,682,682 6,786,931 104,249
S22 6,482,075 6,682,682 6,786,931 104,249

- 119 -













- — =
1. 2338 3
SIHGE ;2000
Ol &FRE : 20k
HRE : SAOSBTAS IS
@ JISEX He
(1) EX29 1 NSSYA S27 SH02NEEXZ U012 £x1 =2
(2) EXI=2X @ #A0IF NESASS HOSH Z2o2M, SHA0I5H10 AN 2LALD M2MES =251 SE.
(3) HXE= ;19914
@ JI2289 J|l=ge
(1) JISArgel =& Do SE0IERY FHIE feF2 MR
(2) 20229 JISAY iR @ SHADISHRIQ CHEMY XHAO CHI01 &1D|2(0i25]) SN2 THOY, 2E X 3E 2us
®JI3x4d ¥ 28
(1) 2I2=4 %
O eicg Iz =Y
HE T8 HE o
2021 & ez ]4' ezl 2
ZHH @ . 2P0 =
42 ® XE © Z2 0=0-0 @+ @
962,990 19,111 23,220 4,109 958,88
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0
70
Kd
o
o

O]
=
%0
Ki
0

©

®
©

1,019,420

KIS IR THA

0| Aatst

o
KJ

60,539

958,881

, LA+ E|1&=2] 10022 50 Sl LHUHIA CHOA

=
=

tHd=el F0IKt

D&

o
—

(3) X

Sl

L2l T

o
==

2A 1 KOt

10132

5t



AN=2E XM

Joo

SIHAHE ¢ 2022

Oll&F X 0 20l AF

A= - 2E0IE—ENESASHHEI =

OP=pONE> (Crel: 2g)

&= ol . & Xl E . =
& = 2] oH ME T~ s &t = PN MECXEH s

= A 982,101 962,437 19,664 | & A 982, 101 962,437 19,664
Hol2 0 0 0| HISXA A 420 420 0
EES= 0 0 0| SXHAE A 22,800 22,800 0
pRsll=] 0 0 0| ol 0 0 0
B 8,531 8,103 428 | 12| 0 0 0
e 0 0 0| olEr2 100,000 0 100,000
0l X232 962,990 940,539 22,451 | 0 X123 858,831 939,217 80,336
e 0 0 0| Xt S2eiS4e 0 0 0
0l Xt 10,580 13,795 A3,215| Ol 22348 0 0 0
pJ|SE] 0 0 0| JIEIXIZE 0 0 0
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SIS ;2022
QAR ¢ 208
SIATE A0SR KISH0IS
@ S Crol M)
SoE e oo 5 2 & U
4-plo!
200 MI2l+=g 10,580 13,795 A3,215
210 BeHA2A+E 10,580 13,795 A3,215
216 Ol Xt==g 10,580 13,795 A3,215
216-01 30 S0[X= 10,580 13,795 A3,215
1N&EZ 01kt 10,580, 1408 = 10,580
700 28+=LSHUF e 971,521 948,642 22,879
710 28+2S 971,521 948,642 22,879
713 si=d=+8 8,531 8,103 428
713-01  2RIENS =+ 8,531 8,103 428
NEX= dl=3 8,531,640& = 8,531
JACRINEEIES 962,990 940,539 22,451
714-01  OiXl=2l= 962,990 940,539 22,451
NUXIZ 3l=3 962,990,630& = 962,990
= g & A 982,101 962,437 19,664




SIHAHE 20224
Oll&F X 0 20l AF
HFE - SZ0IHARNES NI UHAEIIZ
OPNEYE (Sl &)
A& .BF2 - M . H . JRAE - BHAS X=H HEE=X| SN Hlws2
A 982,101 962,437 19,664
HoIS 982,101 962,437 19,664
IWRE MEEH IH 23,220 23,220 0
0I5t SX3 Ol (B-Z0IsHI XA 20 I3) 23,220 23,220 0
EH0I3Y X3 8 23,220 23,220 0
201 LBt2AH| 420 420 0
01 A2l 420 420 420 0
1)SZ0ISETHSIZUIIZ 2840925 R4y
70,0002 %2%33| = 420
501 X3 22,800 22,800 0
01 oiEN= 22,800 22,800 22,800 0
1)SZ0IaH H8ta HRIE o 22,800
2)UBHTH KHSHA 3,800,000 %32 *251)| = 22,800
WS (HAHFD) 958,881 939,217 19,664
BN S(BA0ELIHASXZ2UH0II2) 858,881 939,217 80,336
SAXE(SZ0ISAREBR2UH0DIB) 858,881 939,217 280,336
602 OflXI2 858,881 939,217 80,336
01 sk R 858,831 858,831 939,217 80,336
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ZX .22 ..M. O . JEAY - BAS JNEFL HMEATT| SN Hlns2

1)S20ISHARES K202 0IXI2 55651 0005t = 658 861
SRS (2B 0ISAREAS XS HOD2) 100,000 0 100,000
LHEHHXIE (2 A0ISHARHAS B UDIS) 100,000 0 100,000
704 GIEF2 100,000 0 100,000
01 o= 100,000 100,000 0 100,000

1) SEHEHESIZ(SEHE) ols=2

100,000,0002! = 100,000

X o= g A 982, 101 962,437 19,664




SHAHE 20224
Ol &FXb= - 20f A
2HFE - 2F0IENEASASUHHI|I=

(191 &2)

x o o Qs o o

s H @ | mom | mxa | gem | 9B | gaz | OX | JEH | o o luiSts | S | eseas | Iu38 | 0+38 | |EL (@-B)

=55 | =25 | NS | opze) | HTS | a0 | g ANHL | AtRIH| | %3 | 2i3aE | e3ae | KIE

20164 MKl | 2,577,877 730,386 0 0| 1,623,700 0 223,791 0| 1,753,143 0| 1,753,143 0 0 0 0 824,734
20178 &= 36,660 0 0 0 21,209 0 15,451 0 7,128 0 7,128 0 0 0 0 29,532
2018 = 72,3% 0 0 0 55,796 0 16,598 0 15,169 0 15,169 0 0 0 0 57,225
2019 &= 21,536 0 0 0 16,427 0 5,109 0 20,755 140 20,615 0 0 0 0 781
20209 &= 42,099 0 0 0 16,217 0 25,882 0 13,832 0 13,832 0 0 0 0 28,267
20218 = 30,728 0 0 0 9,123 0 21,605 0 8,277 420 7,857 0 0 0 0 22,451
202249 &= 19,111 0 0 0 8,531 0 10,580 0 23,220 420 22,800 0 0 0 0 A4,109
Hl 2,800,405 730,386 0 0| 1,751,003 0 319,016 0| 1,841,524 930 | 1,840,544 0 0 0 0 958,881
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= al el
4. OlXl=s & t&E= EAl
SIS ¢ 20224
Ol &FXb= o 20lA
SN2 SHOISATESIA2H0DI2
| Hl = PN E PN (D) (chel iy
NETRVERT
= ORI ()& bl
202011 & 234 XY 2001 TLETHH®@ 202211 E B TAB 52(0-@)
2l 940,539 962,990 958, 881 4,109
OIxIZ2 E 940,539 962,990 858,881 A104,109
S22 940,539 962,990 858,881 A104,109
Hs= Bl 0 0 100,000 100,000
SEMEEDI=Z 0 0 100,000 100,000
(S8%)
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70
Kd
o
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70
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202,016

KIS IR THA
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KJ
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F

0l&

202,016

S SAITHAEDIZ2
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o
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(3) X
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AN=2E XM

Joo

SIHAHE 2022

Oll&F X 0 20l AF

SIHTZE © TAIMMDIZ

OPN=EINE S (Sl HH)

&= ol . & Xl E A =
& = 2] oH ME T~ s &t = PN MECXEH s

= A 202,016 100,000 102,016 | & A 202,016 100,000 102,016
Hol2 100,000 100,000 HIS XA A 0 0 0
EES= 0 0 0| Xk AFHI 0 0 0
pRsll=] 0 0 0| ol 0 0 0
B 0 0 0|72 0 0 0
e 0 0 == 0 0 0
0l X232 100,504 0 100,504 | il X1 2 202,016 100,000 102,016
e 0 0 0| A=A 0 0 0
0l Xt 1,512 0 1,512| ol =22 34k 0 0 0
pJ|SE] 0 0 0| JIEIXIZE 0 0 0
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SIHAL 20224
D& 208
SRR TAIADIZ
@ 4 Crel: e)
TRhES oo oo 52 & & U
oo
200 NI2l==¢ 1,512 0 1,512
210 B EAN2A+= 1,512 0 1,612
216 Ol Kt 1,512 0 1,512
216-01  S30=0IAt== 1,512 0 1,512
1N&EZ2 oIkt 1,512,000& = 1,512
700 S-SR HH 200,504 100,000 100,504
710 2SS 100,504 0 100,504
714 HXlz=l= 100,504 0 100,504
714-01  OIXI=3l= 100,504 0 100,504
NOXIZ a2 100,504,000& = 100,504
720 LHS1c2H 100,000 100,000 0
721 M3 100,000 100,000 0
721-03  JIEt2| AN Y= 100,000 100,000 0
B M= 100,000,000& = 100,000
= & g A 202,016 100,000 102,016




SIHAHE 20224
Ol &FREs= 0 20fl A
SIHTZE © TAIMMDIZ
@ XI&EA = (SH2: &)
ZX .22 ..M. O . JEAY - BAS JNEFL HMEATT| SN Hlns2
S AITHA D} 202,016 100,000 102,016
pET=T==N 202,016 100,000 102,016
THRES (S AIKHAY D) 202,016 100,000 102,016
SBEXE(ZAIHAIZ) 202,016 0 202,016
TAITHAD|2 202,016 0 202,016
602 OIXI= 202,016 0 202,016
01 B2 202,016 202,016 0 202,016
1TAIKHAIIZ KIXI2 202,016,000 = 202,016
X o= g A 202,016 100,000 102,016
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SHAHE 20224
Ol &FXb= o 20lA
AHRE ¢ EAMMD IS

(SR &S)
x o o Qs o o
Oth“ = = A T =1 ADS t_l-_'
T 3 e |®uz | Bx= | mea= | B gaa Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)
== s 59 | (oxza) Te 20| 20! AFH| AFIH| | ¥ 21=23H | g|2atE | cIZAE INES
2016 DHX 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20178 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20189 &= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20199 &= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20209 &= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20219 % 100,504 100,000 0 0 0 0 504 0 0 0 0 0 0 0 0 100,504
20229 &= 101,512 100,000 0 0 0 0 1,512 0 0 0 0 0 0 0 0 101,512
Al 202,016 200,000 0 0 0 0 2,016 0 0 0 0 0 0 0 0 202,016




=2 al ElIX
4. Oixl= & G&S= EAl
BIHE ¢ 2020
Ol &FXb= o 20lA
BIHTE - CAIWMIIZ
| Hl = | D1 (chel iy
OIXI 2 ol
2 OIXI (=) HID
20209 =S A 021 L HTH U@ 2022E =L SHTHHD 52Z(O-@)
2l 0 100,504 202,016 101,512
OIxIZ2 E 0 100,504 202,016 101,512
S22 0 100,504 202,016 101,512
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0
70
Kd
o
o

04
=
70
K4
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1,686,247

KIS IR THA

0| Aatst

o
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1,686,247

o0
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uir
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XH
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o
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(3) X
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HAIE, THEHR

N =diife



2. N=222HE

SIHAHE 2022

Oll&F X 0 20l AF

SAHRZ ¢ MH2eDIZ

OPN=ENE= (CH9): M)

&= ol . & Xl E A =
& = 2] oH ME T~ s &t = PN MECXEH s

= A 2,053,267 1,656,606 396,661 & A 2,053,267 1,656,606 396,661
Hol2 800,063 900,000 99,937 | HIS AHA At 367,020 343,784 23,236
EES= 0 0 0| Xk AFHI 0 0 0
pRsll=] 0 0 0| ol 0 0 0
B 0 0 0|72 0 0 0
e 0 0 0| olEr2 0 0 0
NEGES 1,228,967 738,089 490,878 | 0l XI2 1,686,247 1,312,822 373,425
e 0 0 0| A=A 0 0 0
0l Xt 24,237 18,517 5,720 | Ol 2eI24E 0 0 0
pJ|SE] 0 0 0| JIEIXIZE 0 0 0
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SIHAHE 20224
Oll&bXb= 0 20i14t
SIHRE - 221012
@ +HE £l )
oo
200 Mlel=¢] 24,237 18,517 5,720
210 SAHA 2+ 24,237 18,517 5,720
216 O Kk==¢& 24,237 18,517 5,720
216-01 =030kt~ 24,237 18,517 5,720
1) 2 0lX= 24,237 ,000& = 24,237
700 EMUSLUE AN 2,029,030 1,638,089 390,941
710 B&US 1,228,967 738,089 490,878
714 OIXI=22l+ 1,228,967 738,089 490,878
714-01  OIXI2al= 1,228,967 738,089 490,878
NUXZ2 342 1,228,967,000& = 1,228,967
720 LHEHeH 800,063 900,000 A99,937
721 HAZ2 800,063 900,000 299,937
721-03  JIEISIAIE L2 800,063 900,000 A99,937
1)LBgH &3 800,063,000& = 800,063
= o g A 2,053,267 1,656,606 396,661




SHAHE 20224
Ol &FXF= o 2 0lA
AHRE ¢ 22D

® N&EAHE (Crel: M)
X .22 .M. B ARAY - BHAS X &N HACK| S s
S AIQHAE D} 2,053,267 1,656,606 396,661
THHLTY - QI 2,053,267 1,656,606 396,661
HoH 2 T ol 367,020 343,784 23,236
HGHOI S (K221 D12) 367,020 343,784 23,236
2= 0412 298,500 211,064 87,436
201 LEr2 % 35,500 36,064 564
01 ArRB2lHl 34,000 34,000 34,000 0
DS 2 2327 2H X2
25,000,0008% 14! = 25,000
NUEAIY AX2 750,0008 %128 = 9.000
® Dzouy 1,500 1,500 2,064 1564
N+LEAINE 74 1,6802%59.5 4 #1228 = 1,200
NagEATY |22 100,00021%33] = 300
206 =4 13,000 25,000 12,000
o1 medl 13,000 13,000 25,000 A12,000
N30 22 13,000
2) OHCH 3002425, 0000 = 7,500
2)MHLOIEA S 105 5,500,00024% 141 = 5.500
401 AlEHIL RO 250,000 150,000 100,000
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(S &)
T .22 - M. O . JBAIY - HAES N HNEAC K| =M =[ImE=pi;

01 A& 250,000 250,000 150,000 100,000
1ELLXAIL &X 250,000
2) Xt AX 400,00024530m = 212,000
2)HXIH &1 100, 0002 *3800H = 38,000

=L 68,520 132,720 AB4,200

01 der=3t| 68,520 132,720 AB4,200

01 A2l 57,120 57,120 116, 120 59,000
1)2ZLHIUHS et YASE 20 56,000
2)KF94 2rOtAT 204 50021%70, 0000H = 35,000
2)CIg OrA3 20K 15021%70,0000H = 10,500
2)EASH 204 3,500=%3,00004 = 10,500

N HHZRIDI222402A5| EASY

70,0002 %42 *43| = 1,120

02 =294 4,400 4,400 9,600 A5,200
NXZIEEHSI| R 22 1,100,0002%43| = 4,400

03 sHAr2 7,000 7,000 7,000 0
NS =3 7,000
2)20E 2o 1,800,000 1CH = 1,800
2) B EEH EH 600,00024+2CH = 1,200




s
P
o
[0

ZX .22 ..M. O . JEAY - BAS JNEFL HMEATT| SN Hlns2
2)SEE| 1,000,0002*1CH = 1,000
2)SHHE 560,0002* 14! = 560
2)ZSE 66,00021%44! = 264
2)JFASH 2,016,0002*14! = 2,016
2)RiSS|(22) 80,0002%23| = 160
QES(TAIOHEDL) 1,686,247 1,312,822 373,425
SRXE(HH22012) 1,686,247 1,312,822 373,425
o012 1,686,247 1,312,822 373,425
602 OIXI= 1,686,247 1,312,822 373,425
01 wskR= 1,363,620 1,363,620 1,110,205 253,415
D223 0IXIZ2 1,363,620,0002! = 1,368,620
® ol2x= 322,627 322,627 202,617 120,010
D212 220X 322,627,0002 = 822,627
A & & A 2,053,267 1,656,606 396,661
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SHAHE 20224
Ol &FXF= o 2 0lA
AHRE ¢ 22D

(&2 ARH)
49 S

X}OH

O:‘Et“ (=] S TIA T = A9 !
T 3 e |®uz | Bx= | mea= | B gaa Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)

e =S | (oxzs) TS Aol 20! ARHIL | AFRIH| | ¥ 123U | g13ME | 2i2as | KIS

2016 DXl | 4,338,970 | 3,89, 160 113,480 0 0 0 325,873 3,457 | 3,104,187 | 2,993,717 0 97,159 0 0 13,311 1,234,783
20178 584,827 564,508 0 0 0 0 20,319 0 575,359 575,359 0 0 0 0 0 9,468
20189 &= 618,967 591,953 0 0 0 0 27,014 0 720,656 720,656 0 0 0 0 0| 2101,689
201949 & 652,540 619,474 0 0 0 0 33,066 0 503,543 503,543 0 0 0 0 0 148,997
2020 = 1,568,681 | 1,550,164 0 0 0 0 18,517 0| 2,09,873| 2,090,873 0 0 0 0 0| »&b22,192
20219 % 918,517 900,000 0 0 0 0 18,517 0 458,917 458,917 0 0 0 0 0 459,600
20229 &= 824,300 800,063 0 0 0 0 24,237 0 367,020 367,020 0 0 0 0 0 457,280
Al 9,506,802 | 8,922,322 113,480 0 0 0 467,543 3,457 | 7,820,555 7,710,085 0 97,159 0 0 13,311 1,686,247




=2 al ElIX
4. Oixl= & G&S= EAl
BIHE ¢ 2020
Ol &FXF= o 2 0lA
3 & 1 Me2eDls
| Hl = H 191 (chel iy
OIXI 2 ol
2 OIXI (=) HID
20209 =S A 021 L HTH U@ 2022E =L SHTHHD 52Z(O-@)
2l 769,368 1,228,967 1,686,247 457,280
OIxIZ2 E 769,368 1,228,967 1,686,247 457,280
S22 769,368 1,228,967 1,686,247 457,280
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N
=
o|J
0
00
&
o

SHAHE 20224
Ol &FXb== o 20lA
AHFE - SAFNEMI|=

OP=EINEF (CH9): M)
&= ol . & Xl E A =
& = 2] oH ME T~ s &t = INE= MECXEH s
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(S H )
XX .22 . HM . CQ . HBAIY - BHAS JNESL AT K| SH Hlws2
704 OE2 100,000 0 100,000
01 oe= 100,000 100,000 0 100,000
ESMIESI2(ESHE) K2
100,000,0002 = 100,000
X = & A 942,869 949,139 16,270




SHQIT : 2022
OIAERES : E20fAt
sHTE : AENSIIZ

(191 &2)
x4 o Qo

ol
s H @ | mom | mxa | gem | | gaz | OF | JIEH | o uSts | S | emess | K38 | 04+38 | JIE | (@-B)

=55 | =25 | NS | opze) | HTS | a0 | g ANHL | AtRIH| | %3 | 2i3aE | e3ae | KIE
20164 DHXI | 5,564,400 0| 1,680,710 0| 2,734,555 0 288,573 860,562 | 4,752,128 | 1,093,678 | 2,858,000 723,572 0 0 76,878 812,272
20178 &= 170,133 0 15,000 0 74,722 0 15,821 64,590 151,334 101,334 50,000 0 0 0 0 18,799
20188 &= 169,235 0 10,000 0 76,819 0 15,210 67,206 247,681 97,533 150,000 0 0 0 148 NT78,446
2019 &= 269,756 0 30,000 0 162,390 0 13,724 63,642 168,408 118,348 50,000 0 0 0 60 101,348
2020 = 147,082 0 25,000 0 58,798 0 19,966 43,318 91,398 91,331 0 0 0 0 67 55,684
20218 & 119,682 0 56,500 0 29,538 0 17,224 16,420 170,310 170,220 0 0 0 0 0 A50,628
202249 &= 83,840 0 0 0 16,840 0 17,000 50,000 409,570 159,570 250,000 0 0 0 0 N325,730
Hl 6,524,128 0| 1,817,210 0| 3,153,662 0 387,518| 1,165,738| 5,990,829| 1,832,014 | 3,358,000 723,572 0 0 77,243 533,299

- 191 -




SIHSIE 1 2020

Ol &FXb== o 20l A

3 = ASHEDS

| Hl = = | (crel: Ml

OIXI % oflErey
e OlXI (=) in]
202011 & 234 XY 2021H LY@ 2022 TLHTHHB 524(®-®)

2l 909,657 859,029 533,29 A325,730

OIxIZ2 E 909,657 859,029 433,299 A425,730
S22 909,657 859,029 433,299 A425,730

Hs= Bl 0 0 100,000 100,000
SEMEEDI=Z 0 0 100,000 100,000
(S8%)
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